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QUESTION 1

Which of the following storage types is BEST suited for data immutability? 

A. DAS 

B. SAN 

C. CAS 

D. NAS 

Correct Answer: C 

 

QUESTION 2

An administrator installed a new NIC into an existing older server. The NIC is not properly recognized by the OS. Which
of the following is MOST likely the problem? 

A. The server does not have enough power. 

B. The driver needs to be installed. 

C. The server has a virus. 

D. The operating system needs to be reinstalled. 

Correct Answer: B 

 

QUESTION 3

In which of the following ways can a storage administrator provide LUN security on a storage array? 

A. LUN masking 

B. LUN provisioning 

C. LUN controlling 

D. LUN establishing 

Correct Answer: A 

 

QUESTION 4

Which of the following has the ability to minimize CPU overhead? 

A. Jumbo Frames 
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B. Class of service 

C. TOE 

D. VLAN 

Correct Answer: C 

 

QUESTION 5

Which of the following measures the performance overhead in an ISL between two switches? 

A. Bandwidth 

B. Latency 

C. Multipathing 

D. Hop 

Correct Answer: B 
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